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QUESTION 1

Which of the following statements about VPWS service on a Nokia 7750 SR is FALSE?
A. VPWS is a simple point-to-point service.

B. VPWS emulates a Layer 2 connection between two customers.

C. VPWS does not perform MAC learning.

D. VPWS encapsulates Layer 2 frames into IP datagrams.

Correct Answer: D

QUESTION 2

Which of the following is NOT a function of TCP?

A. Maintaining the ordering of data transmitted across the network.
B. Ensuring the reliable transmission of data across the network.
C. Providing the receiver with a flow control mechanism.

D. Defining the method for routing data across the network.

Correct Answer: D

QUESTION 3

What problems was Spanning Tree Protocol (STP) primarily designed to solve? (Choose two):

A. Providing path redundancy.

B. Preventing loops.

C. Handling collisions.

D. Allowing flooding of multicast traffic.

Correct Answer: AB

QUESTION 4
Which of the following are protocols belonging to the OSI suite of protocols? (Choose two)
A. OSPF

B. BGP
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C. X.500
D. IS-IS
E. Ethernet

Correct Answer: CD

QUESTION 5

Which of the following statements BEST describes the purpose of UDP (Select two)?
A. Provide a connectionless delivery service.

B. Provide a connection oriented delivery service.

C. Provide an unreliable transmission service.

D. Provide a reliable transmission service.

Correct Answer: AC
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